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	Level
	Key Questions

	8
	· Use this graph of y = x2 to help you sketch the graphs of y = 2x2 and y = x2 + 3
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	· Construct a table of values and use it to plot the graph of 
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· Match each of the graphs below to the correct equation from the list here:     
y = -x3,  y = 
[image: image3.wmf]x

1

,      y = x2 + 5x + 6,      y = x3 – 4x2 – x + 2,      y = -x2 + 3x – 2
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	· Construct a table of values and use it to plot the graph of y=2x2+2x-3

	7
	· Find the nth term for the following sequence: 2(3, 3(4, 4(5, 5(6, …

· Find the nth term for the following sequence:  
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	· Using the values of x in the table below, plot the graphs of y = x3 and y = 2x2 + 1
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· Find the nth term for the following sequence:  8, 11, 16, 23, 32, …

	
	· Plot the graph of y = x2


	6
	· Find the nth term for the following sequence:  11, 7, 3, -1, -5, …

· Using your knowledge of the meanings of the numbers in the function, draw the graph of y = 7 – 3x

	
	· Which of these graphs are parallel:  
y = 2x + 2,     y = x + 2,     y = 2 – 2x,     y = 
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 + 2,     y = 2x – 
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· Which of these graphs have the same y-intercept:  
y = 2x + 2,     y = x + 2,     y = 2 – 2x,     y = 
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 + 2,     y = 2x – 
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· Plot the graph of y = 3x + 2

· Find the nth term for the number of white squares in the sequence of diagrams below.
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· The graph below shows information about as race between two animals.  Write a commentary for the race.
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	· Generate the first five terms of the sequence given by T(n) = n2 + 1

· How many white squares will be in the ninth diagram in the sequence started here: 
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· Describe in words the sequence generated by the nth term 6n – 4

· Generate the first five terms of the sequence given by the nth term 3n + 5

	
	· 


	5
	· Plot the graph of y = x + 1

· Complete the table of values for the function y = 2x

x

5

2

1

0

-1

y

Use the results to plot the graph of y = 2x.  Use your graph to find the value of x when y is 8.

· Plot the points (1,2), (0,-1), (-3,2), (-3,-2) and (1,-4).  Write down the coordinates of the points that can be joined to make a (a) trapezium, (b) kite and (c) isosceles triangle

	4
	· The rule to get the next term in a sequence is ‘add 0.2’.  The first term of this sequence is 1.7.  What is the fifth term?

· Continue this sequence by writing down the next five terms: 17, 13, 9, 5, …

Input
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· Look at the function machine here: 
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Putting the number 1 into the machine gives an output of 7.  Use the function machine to complete the table here.

· Plot the points (3,11), (5, 7) and (12,7).  Write down the coordinates of a fourth point that will make a parallelogram when joined in the correct order.

	3
	· The following number pattern goes up in equal steps:  6, 10, __ , 18, __ , __ , 30, 34.  What numbers should fill in the gaps?

· Find the next three numbers in this pattern:  24, 21, 18, 15, …

	2
	· Circle the even numbers in this list:  5, 12, 16, 21

· Describe how to find the next number in this list: 1, 3, 5, 7, 9, … 
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